ELECTROMAGNETICS — 1| SECOND MIDTERM EXAM

Dr. Salih FADIL December 09, 2011

#1) The line y=1,z=-4 carries charge 30»nC/mwhile planes x=1 and z=-2 carry

charges 20 nC/m* and —30nC/m’ respectively. A point charge of 100 #Cis located at
(0, 5, 0). Calculate the E value at the origin.

#2) in electric field E=20rsinfd +10rcos@d,V/m, calculate the work done in

transferring a 10 #C charge from 4(5,30°,0%) to B(10,90°, 60°). Who does the work?

¢ -

#3) If D=2z° sina—ﬁp +z° cos 4, +4zpsin§&"z mC /m*, using Gauss’s law determine the

total charge enclosed by the object defined -2<z<1, 1<p<4, 0<¢<2x.

GOOD LUCK...©
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